' i S.
stion paper contains 20 printed page ]

[This que
your Roll INQueeososonnsess
‘ H
Sr. No. of Question Paper : 512
22417601

Unique Paper Code
1s of Investment

Name of the Paper Fundamenta

Name of the Course B.Com. (Hons.) CBCS

Semester . VI

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1.~ Write your Roll No. on the top immediately on receipt
of this question paper. | .5
2. Attempt all questions.

3" All que'strions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

ol @ e A

1 Wuﬂ;w%ﬁaﬁﬁwmf?@ﬁﬁﬁawmlm
Fgehaieh ferfew 1 -

P.T.O.



512

2. 9ft woT Fifo |

3wl wE @ 3w w8 |

4w T IR e A R R
a3 SRl T A T & B Wifey |

oo o ¥ ARG, Al

1. (a) Primary and secondary markcts are complementary

to each other but their organisational setups are

different. Explain. (5)
(b) The share 1is currently available at z60. The
Dividend pa1d and the year-end price of the share
depends on economic conditions with equal

probabilities are given as follows :

(10)

Market Condition | Dividend(in¥) | Year End Price(in ¥)
Bullish 5 . 100
Stable . 4 Rk 65
Bearish 1 50

Based on this information, find out the return and
risk of this share. Also calculate the inflation
adjusted return if the rate of inflation during the
year is 8%. ' '
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OR
(5)

(a) Distinguish between :

(i) Direct Investing and Indirect'Investing

(i) Money Market and Capital Market

considering investment in stock
estimated the following

s of stock X and stock

(b) Shankar has been
X or Y. He has

distribution of return

Y. Compute the expected return and risk of

the securities and suggest which security

should Shankar buy in terms of expected return

and risk? (10) .
Return on stock X Return on stock Y Probability
(%) (%) (%)
-10 05 10
0 10 - | 25
10 15 40
20 20 20
30 25 05

)

2. (a) Differentiate between any two:

G) YIM & YTC
P.T.O.
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(ii) Callable and Puttable Bond

(ili) Deep Discount Bond & Zero Interest Fully

Convertible Bonds.

(b) The tollowing information is available in respect

of a bond : (10)

Face value: 1000, Coupon rate: 8%, Time to
maturity: 5 years, Market price: ¥925, Investor’s
required rate of return: 12%. Find out YTM and
Intrinsic value of the bond. Should an ‘investor buy

this bond based on YTM and intrinsic value?

OR

(a) Explain the various properties of bond valuation

as described by Malkiel. (%)

(b) An investor is consid_ering the purchase of the
following bond : (10)
AFace value : ¥1000
Coupon rate: 16%

Maturity : 7 years



512 5

%%, what is the

(i) If he wants @ yield of 20
e ready to pay

maximum price he should b

for?
7941, what would

(i) If the bond is selling fo
d and holds

be his yield if he buys the bon

it till maturity?

y factors in

3. (a) Explain EIC approach. Explain the ke
(5)

Industry analysis.

s current share price is %132 and

(b) XYZ comphny’
paid was ¥7.20. If dividends are

its last dividend
w at a constant rate g and if

expected to gro
urn is 12%. What is XYZ’s

required rate of ret

expected share price 5 years from now?  (10)

OR
hnical

(5)

- (a) Differentiate between Fundamenta.l and Tec

Analysis.

(b) Mr. X wants to invest in a company that has just

‘given a current dividend of ¥2 per share. Dividends

are expected to grow at 10% for 3 years. at 7%

_P‘.T.O.
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for next 2 years and at 5

Find the intrinsic value of equity share if the

required rat

intrinsic value of sha

6

% thereafter perpetually

e of return of Mr. X is 10%. What is
re at the end of 5th year? If

the actual market prlce is ¥ 40 should Mr. X buy

this share?

(10)

4. (a) “All efficient portfolios are feasible but all feasible

Do you agree? Explaln

portfohos are not efficient.”

in the context of Harry Markowitz model. (5)

(b) An investor is holding two securities A and B in

his portfolio, following i s the probablllty distribution

of the securities : (10)
Condition Probability | Returnof A | Return of B Market
' (“o) (%) return
~ ' %
Good 0.5 30 76 (48)
Normal 0.3 20 60 22
_ Bad 0.2 10 55 G
Calculate :

(1) Beta of security A, B ang Market



(ii) Calculatc SML ret

7

(ii1) Also state which of the above tw

urns of security A & B.

o securities

are underpriced according to SML?

(a) Write notes on the following:

OR

(1) Investors’ Protection.

(i1)) Load and No Load funds

(5)

(b) (i) Following are the details of three portfolios :

(5%x2=10)
Portfolio Expected Return (%) | Total Risk (S.D.) (%6)
uv 16 8
LM 18 10
TU 30 24

You are further given that the risk free rate

of interest is 8% and expected market return

is 15%. Risk (S.D.) of the market portfolio is

14%. Find out whether these portfolios are

efficient or not as per CML.

P.T.O.
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(ii) Following information 1is available to you as

portfolio manager :

Security Estimated | Beta |- Standard
Return (%) Deviation (%)

RY 40 2.5 10

RT . 25 1.9 8

RS 30 1.5 11

Market Index 20 1 9

Government Security 8 0 0

In terms of Security Market Line, find
out the expected return of the securities.

Also state, which of the securities are

underpriced?

5. (a) Write an explanatory note on Insider -Trading. -

G)

(b) Tushar has bought a call and put options. Eacl;

contract is of 100 shares. He has purchased 2
months call with a strike price of %60 and paid 4
as premium. He has paid %2 per share premium
for buying 2 months put with a strike price of
%59.
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Find out :

(i) What would be Tushar’s position if the

stock price moves up to 62 in two months.

(i) What would be his position if the stock

price falls to 52 in two months? (10)
OR
(a) Write notes on the following : - (5)
(i) Securities Ombudsman Scheme
(ii) Unpublished price sensitive information.

(b) A Mutual fund made an issﬁe‘of 12, 00,000 units
of ¥10 each on 01.01.2021_.; No entry load was

_charged. It made the following investments 3

70,000 equity shares of?lv_vOO each @130 | 291,00,000
6%: Government securities | < %5,00,000
10% Debentures(Unli;ted) g %9,00,000
15% Debentures (listed) e ik 312,00,000
Total | ~ |=.,17,00000
“ P.T.O.
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During the year, dividends of 12, 00,000 were

reccived on cquity shares. Interest on all types of

debt securitics was received as and when duc. At
: : 0

the end of the year, equity shares and 15%

debentures are quoted at 180% and 85%

respectively. Other investments are quoted at par.
Find out l'hc Net Asset Value (NAV) per unit
given that the operating expenscs during the year
amounted to ¥9, 00,000. Also find out the NAV, if
mutual fund had distributed a dividend of 20.70

per unit during the year to the unit holders.

(10)
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